N = 0l & At & M A

A 2SAIE 2l AN &
HE: MEHS S4
Sl EUSHSD 2y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FStAI 22l A S & 1,340,204 1,120,211 219,993
HdEH=E 4 415,355 441,657 A 26,302
SZsSHsa 222 415,355 441,657 226,302
gy 25 29 135,039 106,956 28,083
201 Let24dy] 83,659 67,656 16,003
01 At 2teltl 83,659 67,656 16,003
< YEt=2Hl > 0
o H0IE 28JI7 ABZF LA
200,000& = 1538 3,000
o UM Y B4 F
55,000& = 501 = 43| 1,100
o 424 W8S 7¢
200,000& = 58 « 23l 2,000
o HE|AE =4 || 600,000& » 20& 12,000
o oIl =4 KXH  200,000& * 123 2,400
o ROoIYiI X7 26,4003 = 1004 264
<2g=E> 0

50,000& * 65= * 150Al 2t 45,000

400,000 = 2% = 123 9,600

< msH > 0

o MHSF 100,000& » 79H 700

< Sl > 0

o 2dgR =& 7,0008 = 798 * 155¢ 7,595
202 044l 9,940 6,600 3,340
01 S LHOIYI 9,940 6,600 3,340

o 2PHYER FA 20,000& = 78 * 71 9,940
307 gl2tol & 10,440 12,000 A 1,560
05 Rzt E = 10,440 12,000 A 1,560

o ROIFHH AMAE 8292

290,000& = 3H 2 = 123 10,440
405 XHobF S HI 31,000 20,700 10,300
01 AL ESFH S 31,000 20,700 10,300

o HeMa 7 5,000,000& =+ 4CH 20,000

o g adAds HQ 3,500,000& * 1K 3,500

o ctgal 1z +¢ 3,500,000& = 1CH 3,500

o dd=elA 2Y 4,000,000& * 1CH 4,000
sSZsHs2 A2 280,316 334,701 A 54,385
101 @14l 10,839 11,492 A 653
04 JI12ZtHZ22EaE = 10,839 11,492 A 653
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2324l 9,700 3,500 6,200
<SS 2=ZHMA > 0
o =23 0l=32HE s
2,500,000& * 12/ 2,500
< ANEFHHI=XH > 0
o 202 ZFLH =X 2
300,000& = 12& 3,600
o ZHa2 SAHAE |2
300,000& = 12& 3,600
03 &Ar2 I 192,280 109,280 83,000
o 23M=IIEZ2A 5,000,000& * 102l 50,000
o BSME(IINEAE) 60,000,0008 * 13 60,000
o Astad 3,500,000& * 43] 14,000
o XNY2o a2 XNIAMNY 22XZ (S II260%
8x) 10,000,000& * 43| 40,000
o ¢ 2 J3 22= HEH| 28,280
- MEHXI(A4) 350& * 50008 * 243 4,200
- ZAEH(2E) 1,200& = 3000# * 202l 7,200
Edi3tE 55,000& * 2002 = 10 11,000
- E2HU(MZXXHE)
20,000 = 6 = 243 2,880
- 22U OIZEEE)
15,000& = 2004 = 102 3,000
202 044l 2,760 2,820 A60
01 = LH o4 1l 2,760 2,820 A 60
o ZOEY U P 2AYL =X
20,0003 = 3% « 46 2,760
206 M= Hl 9,000 9,000 0
01 =4l 9,000 9,000 0
o 2052 BAY A2E Y
500,000& = 12& 6,000
o 232 SHE O0t012 AEX 2L
5,000& = 408 = 108 » 102 2,000
o 232 ZHE O0tol1=2 AHOsE 7
50,000& = 4& = 504 1,000
405 RHoHE S HI 3,000 5,000 A 2,000
01 AL EZFH S 3,000 5,000 A2,000
o 232 240t013 ME +E
3,000,000& * 1M E 3,000
Fatozz 2 g2 52,600 67,100 A 14,500
201 ¢er24| 47,600 53,100 A5,500
01 At 22l 1,600 7,100 5,500
< LEh=ZHl > 0
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& S3oi=s 2 23 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o 20z =483 HA
8,000& = 200&E * 13l 1,600
02 =224l 46,000 46,000 0
<gEdl > 0
o 2Ua HeEdy L H24I] HZ2H
1,384.46% * 5,778.40 + 53| 40,000
< ANEZHHISXd > 0
o Zstllz=3z 2 sX2el
2,500 = 200m = 123 6,000
206 M= Hl 5,000 5,000 0
01 = tl 5,000 5,000 0
o 232 dSI| dXdet 4 F
50,000& = 60H 3,000
o o3 2Ly F2H F
40,000& * 50& 2,000
A& s & 24 341,570 199,427 142,143
Otztoidlote s 24 22| 279,170 199,427 79,743
EARY 2 139,544 95,264 44,280
201 Let24d] 13,244 10,244 3,000
01 At 22/l 12,384 9,384 3,000
< At 2teldl > 0
o FIIvdE P 10,000& » 258 * 12& 3,000
o NsUsE gyl X 120,000& * 32fA 360
o JYNE L=82 300,000& = 3 900
o ZHZH 22X BEY M
2,000& = 1,5000H 3,000
< SE¥Hl > 0
o THAZYER FXA 7,000& * 4% x 183« 5,124
02 2324l 860 860 0
<SS ZAHAM > 0
o ZHIEAEIA 01EZ 30,000& = 12& 360
o EAN2 3l 250,000& = 23l 500
202 04l 4,800 3,840 960
01 = LH YI 4,800 3,840 960
o MR FX 20,0003 = 4% = 60 4,800
206 M= Hl 7,500 6,780 720
01 =8l 7,500 6,780 720
© RFIDEHD 880& = 6,8180H 6,000
o TMEe B3 300,000& = 53 1,500
207 Ao 2| 7,000 5,400 1,600
01 2284 7,000 5,400 1,600
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= XAZ MARC #+=E9H| 900& * 7,777THA 7,000
405 THabH S| 107,000 69,000 38,000
01 AL EFH S 11,000 9,000 2,000
= Elol, &, SN Mt
800,000& » 10X 8,000
o Hits 28 DUHAEX L MIt
2,000,000& * 1X 2,000
OtStOIDIGHS A& T MEBtEE 7Y
1,000,000& * 1X£ 1,000
02 =Xl 96,000 60,000 36,000
o BT A P 12,500& = 4,800& 60,000
o SeAM EAFEY 12,500& = 1,600 20,000
= DV0 ¢ 20,000& » 1508 3,000
o MXIH 7¢ 20,000& » 50038 10,000
o QL= P 100,000& * 305 3,000
darzte] 2 OQXNENZE 29 89,126 83,233 5,893
201 Let249] 11,846 5,081 6,765
01 At 22/l 9,120 1,200 7,920
< YBt=2ZH| > 0
o HOIH®AE HOIZ 22 60,0008 * 2004 1,200
o LXNERZA 028 S/W2 (My office)
230,000& » 208 4,600
o LUXNERz4d 0I8XE SN (s3)
120,000& * 208 2,400
o LUXNERz4d 0ISXHE SWNHL(EZEL)
920,000& = 138 920
02 8323l 2,726 3,881 A 1,155
< NMEFEHIFXH > 0
o MAFH KXY 50,0008 * 3& 63l 900
o HESAYFH FXHl 22,813,000& * 8% 1,826
207 A& H| 47,260 48,152 A 892
02 & A& I 47,260 48,152 A 892
o ZHOIX SAIMNL 38,200,000& * 12% 4,584
o NEEES £2H RAUES
13,450,000& * 12% 1,614
o HE/RIEdAdD MOUHAMAYE R+
23,500,000& * 12% 2,820
o HAHALANAE KRB
97,880,000& * 10% 9,788
o UWEK/IPCAIAE R+
15,690,000& * 10% 1,569
o HHAIAH FAEx 15,275,000 * 12% 1,833
o NHESAIAE KRB
9,508,000& * 12% 1,141
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EXN: S3AIE 22 AFE A
Hu: ZTCHB HE Y 29
CH2: Oltdlio|oleA 249 22| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o Ol XA AE SXE
4,533,000 * 12% 544
o HEXNZHZIAIAE SN2
19,800,000& * 12% 2,376
o DHILEAZAAE KRB
3,750,000 * 12% 450
o JHOIXNEDB AdSSEZHE RAESE
7,008,000 = 12% 841
o 230z 2 SAHUMAIAYE SAE4
7,500,000 = 12% 900
o T NZ ISSHAAE RAE
172,000,000 = 10% 17,200
o Hi0l2iA BtEAIAE 2= 400,000 * 45 1,600
405 KHoHFE S HI 30,020 30,000 20
01 AL E B F S| 30,020 30,000 20
o LXNEXNEZA =5 Tely Wi
600,000 = 2CH 1,200
o CXEXEA =5 A A
660,000 = 2CH 1,320
o LXNEXZA =5 EAHD WA
2,500,000 = 1CH 2,500
o BHAMPIAIAE A 0=
25,000,000& * 1= 25,000
Estnad 20,500 20,930 AN430
201 2Et2H Y| 20,500 20,930 A 430
01 AP 2t 2] H| 20,500 20,930 AN 430
< B ZH| > 0
o FSNA, SNHYY A EE2 M
500,000& * 53| 2,500
<2g+g > 0
o E3twal 2AIEE
50,000& = 92Xt % 40A|2F 18,000
Or2tAl0lal A S Xl 22l 30,000 0 30,000
401 AlEHIZ 2 0HY| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
o OI2tHI0IGHR A AHEZTHE A
30,000,000& * 13 30,000
MHEAE 29 22 62,400 0 62,400
SN & EFFY 229 22 62,400 0 62,400
206 M 2 dl 5,900 0 5,900
01 =4l 5,900 0 5,900
o RFID EHO 880 * 5,0000H4 4,400
o T NE2ES 300,000 * 5= 1,500
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Sl ANEHE 29 el CERED
SA - BB B (EH) - NRAY - BES of & o San HI D2
207 & 51 JH & Hl 4,500 0 4,500
01 23 E2HH| 4,500 0 4,500
o &N O3 2=89HI 900& = 5,000 4,500
405 Xt&tE SHI 52,000 0 52,000
02 S 52,000 0 52,000
o Yt EHFY 13,0008 = 4,000 52,000
HE2HA LU (2StAIE 2l At A) 302,202 272,343 29,859
el 2| 39,615 16,365 23,250
el 2| 39,615 16,365 23,250
101 Q124 H] 39,615 16,365 23,250
01 2= 39,615 16,365 23,250
<x=g > 0
o Nzelaesy
7,860% x 148 « 30AI2t « 12 39,615
Jl=&dl 262,587 255,978 6,609
Jl=2&34| 262,587 255,978 6,609
201 ZBt2 ] 256,027 248,818 7,209
01 At 22l bl 51,507 44,298 7,209
< eptx=24l > 0
o ANFAEE 225 2¥ 6,000
- NRES 20,000& = 208 = 23] 800
- SAEX 25,0008 = 48tA « 128 1,200
-EH S HUADE
250,000& 80§ = 23 4,000
o NE2g E2E3E 7Y 7,200
- AIA 25,000% * 68 * 123 1,800
- & 50,000 = 202fA = 33 3,000
- JIEt EAES 40,000% = 1568 = 43 2,400
o MYIISEM SF 7L
700& * 20001 = 12& 1,680
o MEFR=EE 4,800
- 32X 15,0008 » 188 » 12& 3,240
- A& 10,000& » 132 » 12& 1,560
o RERS= 261
- 2 2708 = 108 * 128 33
- S 1,900 * 108 * 128 228
o EAMD|, ZEE 8 #HAFH +d
100,000& = 7CH = 12l 700
o ALE Il 7Y 30,0008 * 58 = 23] 300
o FZAE 7Y 10,000& » 105 = 23 200
o I 2ell 25,000% = 50 ~ 128 1,500
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A SAAY| (2FHAI A ZHEIAL A)

B
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
o gxg B2 29 2 Al
100,000& * 53l 500
o S8 S (HUHl) 7,000& = 243| 168
<28=g > 0
o YA G 16,700
- o3 50,000& = 1¥ = 115¢ 5,750
- =3 30,000 * 1€ = 3652 10,950
<2z > 0
o 2HAM FYe =T
7,000 * 14Y% = 31 3,038
<Ytz > 0
o )| HEZ 50,000& = 1204 = 128 7,200
o FEIA NEI HER
21,0003 = 504 ~ 123 1,260
02 =224l 204,520 204,520 0
<SESLHA > 0
o MIIe3 13,000,000& » 12& 156,000
o ZNEI0NY MEIH=
1,700,000& * 12& 20,400
o & ot MEE 1,800,000& * 128 21,600
o dYSE === 20,0003 x 534 x 123 1,200
o RNI Mtz 30,000& =« 43l 120
o gAze BE3 1,000,000& = 23] 2,000
o KXot =ZIME 200,000& =« 13l 200
< XHEH| > 0
o Xg s Xl 2,000,000& » 1K 2,000
o SFMU 1,851.52& » 5400 ~* 104 1,000
203 YR =&l 6,560 3,560 3,000
02 At =2 560 560 0
o XA AJIEE A 40,0003 = 149 560
03 AIHF=XH 2 =AH| 3,000 0 3,000
o SANLANABEAL F7
250,000& ~ 123 3,000
04 FENSELRZ=LH| 3,000 3,000 0
= 15¢! 0l3&t 250,000& = 12& 3,000
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